0K-A-2C-75K

%
5004 F 100050 2000 2000 2000 2000 2000
A—ABFmE
' : l : (7 > —EREEH)
§ 200
55 85 60 $28x4b
| $25x40 40 45 ER
VN 3
o~
== =22
! | Et 2l 8 CORRE
| | -
- = B D I
B &R R
500 1000 2000 2000 "
OK-A-2G-75K 25 2x150=300 175 125 5x150=750 175 175
3 120 T T 340 T
T e s I 55 85_60 85 55 ETL— )L 170x100x4t
M16x60 110 M 30 60 30 :
W80 2 2 s it o120
(SUS304) T \F————————— i z, == ==~ mabAE T : :
inintn I i 65
O S\ o N ! i W] I e e I P S A 63020 = sy
SUS)3(04 RoUvT M BEHYvT ’( FB-3. 0x60
¢ ) (L5x120x40x28) i (L5x60x40x28) L4, 4, TERRL—/L:122x76x3. 2t
M10x35 == o BEF - 113x66x4. 0x300
(SUS304) SHERHETE : 113x66x4. 0tx120 46 8
M12x70 2 o 8
M12x40 > —
(SUS304)
H8x20
(SUS304) -
A A > AR S s
M10x35 ey L@J T4 - 65x30x2. 0
(SUs304), L LT 1T T
IWE 250 £yUvT IIBE
] (L5x120x40x28) gl o | N 2
| 425 sl Z
S L ‘
r: (Foh—epi) | M20x220 (%)
‘ (55400)
Ty M22x320 (8) 7 it
100 (SCN435) =
55| 85 |60 35 95 35 \_ 100x200x12t-P95
| ‘ (85400)
75 200 325 165
600 200
ERY HBORYD., —BHKEEETIHE/HYET. — 13 -




